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TRl PQ 3 1 (115~120 ~—2) ORERMHICHRI N ITSNWELLDOT, UFDL
BYTETS & E BT, RSBEVCH L ETET,

1) REZMBZKRDODEBVHEDTLIEEN,

(B FA)
A BfREZ FA ¥B &t

ROBIBAE 200,000 76,000 24,000 300,000
D ENAE 360,000 140,000 108,000 608,000
BEBER A 40,000 A 40,000
ARRESME 8,000 4,000 12,000
i3 528,000 220,000 132,000 880,000
EHEERR 30,000+6,000 X 3(A) = A 48,000
R DFR%E 166,000 66,600 66,600 299,200
ENEE 0.60 0.25 0.15 1.00
H R EE 179,520 74,800 44,880 299,200
EEER TR O] A 1510 A 335 A 1845

2) RESMEBDIZZ LTIV, BMEE KT D IEE R DOBRBARIIRD L B &
R0 ¥ET,
116,672,727 = 125,120,000 M

3) HEBED (1) (2) B) ZROLBVHED T I,

(Z DEHB#HEEE) (B 5B &EIERREE)
(1) 179,520 FH — 1,510 +H = 178,010 +H
(FB#ER D #%E) (FRIADEE))
368,000 FH
2 299,200 FH X = 125,120 +H
2) ¥ 880,000 FH *
(BREHEDOSEEE)
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(3) (1)>(2) ..125120 FH (WFhhDBRWADEEE)





